I-E‘II. ézl

2510 2 T1A|S(Logos—ism), 1 &3 2SS0
2E0] Ak 2 AT
2 Qo 20| th7y B2l ZE0KESE 14 S LISV XIE D4
S [, F7F FRIIXIE 27| of24E T &H
U= M SA| 2243

==

AlS &0
1t J2iS SoiM Hot

20| Ut 2Hsto| 1

H M, 19| kol 2R XI2IS0| 2R
1 19| 250| HREL, At = 0| A
P7h= Chidl 24|

37+ £H5k= 20| =,
Ol oF ARXH &3] ARRIE X|
Ch QEfHRE T 350| 212 HSoll U= AL £He= 220
2 0[op|E BiCh JBle= HMol= 0P IE2 &

S i Wit 7150l SS9t 70| X0

AHE BLE UUCE 0% £H3I= LHA| 0242 271
O| FHE 1 SOV 17F 2K &

AQl| ZHAS Cf

[ =S50
. ILEM I ASOHAE 2=
FAS Ye

Ch 19| 3ol X[
| Z401Ct x| CHA| 7|27 it 19| =S T
N2

2 JHC SohH=E2 5
o7 7 HRt, &Y
9| ZIX[H0| Hof =2 %f=2
HoICE 2 AXE SS0| ARRIE X7 = 277 HHAO| 2 fl EZS0ICH 1M £0| 21=S &
aict

sk LEIIESAX| =

2011-03-09 (12

O00_30.indd 36




2wz}
it AQSEHI B2, AR ZiPas 2 S4
IS 2| 12| 0] S, A OIS 45 ERS0IRIES)
5 - 3% DlSmETCHE, BRAt Comet T

=7 |=0leEE] et=iledsl oinal &l

or

ro

ro

3t Rixie] 53
8 HRDH 23 9UCk 1 B5S 281 PalE I 12t 1 A1 Holt S S 4
JhiCh 151 HIOR HH Lk M2 S T SMoIM USsi0l 52 Sl ot
UZ} TS H & J20 AR OfRIZ-, Al Q1B0| B RS MRl 7t

=
[1E]
It
e
i
o)
0>
o
ol
X
rfo
o
o
ro
g
o .t
1
s
il
ro
il
AT
=
o
O o
(7]
2
I
>
FE S
n

2 Ho|ct FlutHiio| OkF0] ofH HRIX| 1 Seel === H7A= AlRS0[2HH
T19| 20| ofH ZRIX| SoFE 4= US HOIC

1 S0l MiKte| S HIFE= et 20l A, 19| HE2|7 =t Z=20l| H{=FE
XXz 2ot Ho EX0| It S2lck= Ut HEEK| 2 HYE, 0 M2=2 7|

371 01 AYUS 0] HollM 2fRIBICEL 272 01F £2| MIXtoi|A| & £7| S[o|ct,
et Hixte S5, £82t 90X 500m, 73t

EME Tob= Bt ofel
M U= HAE HERI 6], He| S2iM of F2[ ARYS, Sate| mtatutxy 7! 2tH
Ofl B2 0IS0| SEGI T 015 Afojoi| =
2| ool Sz E2=n HEXe 230t BAIS Hol, = o iFHsh 2
Ho[ U=7F?

717 42/ 0012 52 £0| Tof| Y2 WS SX| R}, B chLES S0 oy

1
>
1o
S
o
=)
-
N
1o
N
5
4
=
i
Ho
I
S|

000_30.indd 37 2011-03-09 17 4:28:04



38_worldview

000_30.indd 38

OF £7|10 Ut K| XIS A1 A2 OR19| AFEE 2V ks 72T 5oz QUSeIX|E 2ELL,
T 0R19] Si2THol| M L= 017 QUCH 0t RAMEt SiEtat E2id LS o £Kof 2050 = A Eot 22

HH24 Z40|Ct X iE C4219] &1 == Zd0| Hi= J0iA| F2d ULt #1712] =2to|C.
0f ZiHfet oIS ZAlSH Lif= ZI71e] A2 72l SHISOI7IX| SOt QUCH 1 HOFE YXIoIM 04212] 7=
10 71 20 ZHS ST ol M U= 01S 2f510] BAPC R #S{EI 04219 20ilM 7HER vt S2l=
Sith 1 &0z Q1 SiH TA|of ZHYo| Z=C 2K D= MRS 4 s AU
2 TR 20(H, 1 2| F2IS2 0|50 42 B U=
24 ZLh of2feh it EE SHRIE2| FRI0f= ol ATt T H| 7122 BoM INRE A OIS2 &
M SRZICE O] Z2|2 OfRlS B0 2 0F2| F2IS0| 2lE Y1 SI0[5HA| AP ZiCt oFRZAHY E HE

Aot sl 21T X7t 5| ZiRIEICh

10

Rl
o
2
>
2
ro
2
A
|:|O
ek
OIIJ

LIT0ll S o Al
St ARO[ LIF0l| ZQUCE 19| S2 LI LR AL -2/l OFR: 20[X] Q4=Ct iR W=E MKt
= EM E2 02l 25 TS5 HEAE Slthet 2| FeMO| 0F2 id £0 2% TiEd At 1=t
FES0| gEtitt J= YE HES B2 Al

2Pz MEEQ 1501 EXIE 7127 =2 R0l 22tM 0] TS LACkEC) 11 312 Z2Kie| Aol

38

2011-03-09 17 4:28:06



Ol T2 AL, £t 110X 60cm, 7=t 2008

&

TISAI| AFEHOIC LIFof 22 25 YoM X = ST o AR0] 23 £2| 5/Yo|C,

£7| Ho| EXHo= SIH0| HUC Mol X! 2ol = IHC| ZIAP EEHE Lk AT,
T3 YoilM P2|2] EXRRIE = A2 2UKIe| ROIC 0iF2] HiE ol S0HZ

Sh= At2|= Al S2k2 ZQUK| MEHGHOF SITt 0 OFS2| SiES TSI 1 QoM 713t siYe #ME Ha

== 2L0{0F BIT LISl 22l ot AIRS tHEHSK= 22 2= 214o| E0{0F & =H[olct

o
o
A
o
©
g
foi
N
3
ro
£

Y32 20| EHXl= 22

PP 2E 42| QIESS HIZiEE A2 iR TIJSIC SHIEIK| 22 HF0IM s B=7t 6t
H, 2= 030l EXIE 72t =2 ARoIA Wity | oit), J2|u 225 S22 ¢ AZAM T ¢
=2 g4t xfot JEE Bz S{HCL Of2fet SA Q| HES Sall AVis P2 LS &AM
o= 0[20] it J2| w0 L2|oflA| TIX[SHA| =0t 2 1 GLi2 ofciofl AU=71? @5 Gh2 +=+712017

Fre= FE1 MR 2RH=0| DR0[K[2 SHIZE F2{0l= o2l §lo| AV IS F= Mt 20Uz T
1 FRl0l= 228 Kol ZE7L fIZFE HIFO0] LIZICE 19| JRS2 ofsnt BHYXRl A2l F=5t=0 M
=X 81 = et E7| SlYo| USS YAl ZCt. 1 S22 H £0M LEl= Z3at 22 1 201 sk 78

A

1 AEO| A= ARSI 01210] £8=1Q] 2lept F= AS0[1 &o|ct

39

000_30.indd 39 2011-03-09 (17 4:28:07



